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1 B ET R6.6.25 =S| BmHEHE9(<8.4) BmRHEtH9(<6.5) :fanhcac
2 B AT R6.6.25 =S| BmEHE9(<9.7) BREE9(<7.1) BmEEd
3 B ET R6.6.25 = BREE9(<7.0) BREE9(<7.8) BmEEd
4 @A R6.6.25 =S BmRHEE9(<8.4) BRHEET(<9.1) BRHET
5 A R6.6.25 =S| BRHE9(<L7.6) BRHET(<L7.5) BmHEd
6 %I 8T R6.6.25 =S| BRHE9(<8.5) BRHE3(<L7.5) BmHET
7 AL R6.6.25 =S| BRHET(<L7.9) BRHET(L1.]) BRHEET
8 @A R6.6.25 =S| BRHET(<8.6) BREE9(<74) - Janpcac
9 EAEF R6.6.25 =S| BmREE9(<11) BmHEHE9(<8.3) - Janpcac
10 @A R6.6.25 =S| BmHEE9(<8.7) BmREHE9(<6.2) BmEEd
11 @A R6.6.25 = mREET(<11) BmHEHE9(<85) BRHET
12 AN R6.6.25 =S| BRHET(1.7) BRHET(L7.1) ;- anhcac
13 AIET R6.6.25 =S| BRHE9(<8.6) BRHET(L7.1) BmHEd
14 AIIET R6.6.25 =S| BRHE3(<12) BRHE3(<L7.6) BRHET
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